©

The Chair Company

FLY

M6x16 Vida
M6x20 Vida

Oturak o ‘ Tilt mekanizma
Amortisor L
L M6x16 Vida
Tekerlek
Yildiz Ayak

Bu iiriin ofis koltugu amaciyla kullanilmalidir.

Kapali mekanlarda 0° ile +40° arasinda sicaklik ve %45 - %70 arasinda nem degerlerinin oldugu
ortamlarda kullaniimalidir. Koltuk soguk bir yerden sicak bir yere nakledilirse, montaj veya kullanimdan
Once sogumasina izin verin. Saklama ve calistirma kosullarina uyulmasi sartiyla koltugun kullanim
émri yaklagik 10 yildir. Garanti siiresi 2 yildir. izin verilen maksimum yiik 130 kg'dir. Standart koltuk,
yumusak zeminler igin sert plastik tekerleklerle donatiimistir. Zeminlerin sert bir ylizeye sahip olmasi
durumunda, sert zemin tekerlegi kullaniimasi tavsiye edilir.

2. Amortisorl yildiz ayagda yerlestirin.

4. Tilt mekanizmayi koltuga takin, dért adet M6x16 vida ile vidalayin ve sikin.

MONTAJ VE KULLANIM TALIMATLARI

Montaja baslamadan 6nce tiim parcalarin mevcut oldugundan emin olun ve bu talimatlar dikkatlice

okuyun.
Parcalarin listesi:
O Ayak O Tekerlek -5 adet
O M6X16 Vida - 8 adet O Oturak
%3 O M6X20 Vida - 6 adet O Arkalk
A" O Tilt mekanizma
[0 Amortisér

[ Kolgak - 2 adet
MONTAJ
Asagidaki gibi gerceklestirilir:
1. Tekerlekleri yildiz ayagda takin.

3. Arkaligi oturak ve kolcaklarla birlestirin: Once kolgaklari koltuga takin ve M6x20 vidalarla
vidalayin, ardindan arkalgi kolgaklara takin ve M6x16 vidalarla vidalayin, tum disli baglantilari sikin.

5. Arkalikli koltugu ve mekanizmay1 amortisére monte edin.

(@ Tilt mekanizmay! @ Bireysel agirlik ayari

kilitleme ve kilidi agma

@ Koltuk yiikseklik ayari

Sekil 1 Sekil 3

3. 3. Bireysel agirlik ayari:

A) Yayi gevsetmek icin kolu saat yonunun
tersine gevirin ($ekil 3, ok 4 “-” yoniinde).
B) Yayi sikmak igin kolu saat yonunde
cevirin (Sekil 3, ok 4 "+" yoniinde).

1. Koltuk yiikseklik ayari:
A) Koltugu yiikseltmek igin kalkmaniz ve kolu yukari

cekmeniz gerekir.

B) Koltugu indirmek igin otururken kolu yukari
cekmelisiniz. Sekil 1, ok yénu 1

2. Tilt mekanizmanin kilitlenmesi ve
kilidinin acilmasi:

A) Koltugun arkasini dik konuma getirin (arkaya
yaslanmayin).

B) Kolu mekanizmaya dogru itin - tilt mekanizma
kilitlenecektir. (Sekil 2, ok yonu 3)

C) Kolu kendinizden uzaklastirin - tilt
mekanizmanin kilidi agilacaktir (Sekil 2, ok yonu 2)

GCALISMA YONERGELERI

Yuksek sicakliklardan veya nemden ve ayrica dogrudan giines i1sigina uzun slire maruz kalmasindan kaginin.
Koltugun islanmasina IZIN VERMEYIN. Yiksek nem dosemeye zarar verebilir, esnekligini, gliciini, rengini
kaybettirir. Metal pargalarin korozyon direnci de bozulabilir. Koltugun tizerine veya yakinina sicak nesneler \eya
aclk alev kaynaklari YERLESTIRMEYIN. Yuksek sicakliktan dolayi plastik eriyebilir, ddseme malzemesi
ozelliklerini kaybeder, yangin ¢ikabilir. Kontrol - sandalyeyi en az ¢ ayda bir kontrol ederek tim baglantilarin
siki oldugundan emin olun. Suni deri dégeme - kiri gikarmak igin dikkatlice sikilmis i1slak yumusak bir bez
kullanmalisiniz. Zor lekeleri ¢ikarmak igin, Ureticinin talimatlarina gére suni deri icin 6zel leke ¢ikaricilar
kullanin. Kumas déseme - elektrikli sipurgeyle diizenli temizlik 6nerilir. Zor lekeleri ¢gikarmak igin, Ureticinin
talimatlarina gére kumaslar icin 6zel leke gikaricilar kullanin.

Krom kapli ¢elik ve polisaj aliiminyum yiizeyler yumusak bir bezle silinmelidir, bu tip metal ylzeylerin
temizlidi icin 6zel ev malzemeleri kullaniimasi tavsiye edilir.

2022/07



©

The Chair Company

FLY

Armrest

Backrest

Screw Mé6x16
Screw Mé6x20

Tilt mechanism

Gas lift ‘ Lo R

Lo b
L
EE Screw Méx16

W@

Star Base

The operational purpose of this product is an office chair.

It should be used in indoor environments with temperatures between 0° and 40° and humidity between 45%
and 70%. Ifthe chairis transported from a cold place to a warm place, allow it to cool before assembly or use.
Provided that the storage and operating conditions are observed, the service life of the chair is approximately
10years. The warranty period is 2 years. Maximum permissible load is 130 kg.

The standard chair is equipped with solid plastic rollers for soft floors. If floors have a hard surface, itis
recommended to use hard floor casters.

ASSEMBLY AND OPERATION INSTRUCTIONS

Before starting the assembly, make sure that all components are available and carefully read
these instructions.
List of components:

[0 Star base [0 Caster-5pcs.
O Screw M6X16 - 8 pcs. O Seat
%ﬁ} [0 Screw M6X16 - 6 pcs. O Backrest
N4 O Tilt mechanism
O Gaslift
O Armrest-2 pcs.
ASSEMBLY

Is carried out as follows:

1. Insert the casters into the star base.

2. Place the gas lift on the star foot.

3. Assemble the back with the seat and armrests: First attach the armrests to the seat and screw them
with M6x20 screws, then attach the back to the armrests and screw it with M6x16 screws, tighten all
threaded connections.

4. Attach the tilt mechanism to the seat, screw with four M6x16 screws and tighten them.

5. Install the seat with the back and the mechanism on the gas lift.

@) Individual weight
adjustment

@ Locking and unlocking
the tilt mechanism

@ Seat height adjustment

Fig. 3

1. Seat height adjustment:

A) To raise the seat you need to stand up from the

chair and pull the lever up.

B) To lower the seat you should pull the lever up while
sitting in a chair (Fig. 1, arrow 1)

2. Locking and unlocking the tilt mechanism

A) Bring the back of the chair to its upright (do not lean
back).

B) Push the lever towards the mechanism - the chair tilt
mechanism will be locked (Fig. 2, direction of the arrow 3).
C) Move the arm away from you.- the chair tilt
mechanism will be unlocked (Fig. 2, arrow direction 2).

3.Individual weight adjustment:

A) To loosen the spring, turn the handle
counterclockwise (Fig. 3, arrow 4 in

the “-” direction).

B) To tighten the spring, turn the handle
clockwise (Fig. 3, arrow 4 in

the “+” direction).

OPERATIONAL GUIDELINES

Avoid high temperatures or humidity, as well as prolonged exposure to direct sunlight. DO NOT ALLOW the
chair to get wet. High humidity can damage the flooring, making it lose its flexibility, strength and color.
Corrosion resistance of metal parts may also deteriorate. DO NOT PLACE hot objects or open flame sources
on or near the chair. Plastic may melt due to the high temperature, the upholstery material will lose its
properties, fire may occur. Inspection - inspect the chair at least once every three months, making sure that all
connections are tight. Imitation leather upholstery - to remove dirt you should use a carefully wrung out wet soft
cloth. To remove difficult stains use special stain removers for imitation leather according to the manufacturer's
instructions. Fabric upholstery - regular cleaning with vacuum cleaner is recommended. To remove
difficult stains use special stain removers forfabrics according to the manufacturer's instructions.
Chrome-plated steel and polishing aluminum surfaces should be wiped with a soft cloth, it is recommended to
use special household materials in order to clean this type of metal surfaces.

2022/07





